Exponential Growth
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Use the table above to find:

a) f(a)= [l b.) f(0)= j—— c) f(2)= Ll d.) f(S)= 5:1
X"'H ,!-— X=0 15:_ x=2

Use the function rule to find the following: f(x) = 2* -[ (70 - g
\ 2 3
o R = w21 o 2=8 d) fla)= 2 = 2:2:2+d
p S5 x=2 r=? = b

Use the function rule to find the following: f(x) = 2(3)*

=2(3)
- :‘.(3 ) b) fi2)= (3 c) f(3) = ‘ ) d) fa)= 2(3
2(%)
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= =3 () z CBl )
e, \8 <354 = b2
Use the function rule to find the following values of x:  f{x) = 3*
a. fix)=3 b.) flx)=81 c) flx)=9 d) fix) = 27
Use the function rule to find the following: f{x) = 3(2)"
a. f{x)=6 b.) fix)=48 c) fix)=12 d) fix)=24



